
!
!Sample'MidTerm'Exam'Solutions'4ENGG1811'(15s2)!

Question'1'!

=IF(AND(F5>=50,G5>=50),"PS","FL")22

Question'2'!
!
The!solution!of!Q2!is!inside!a!OpenOffice!Calc!file.!The!link!is!provided!on!the!notice!page!of!the!course!
website.!!
!
Question'3'!

Three!root!values!to!3!decimal!places!are:!x!=!–

4.439,!0.729,!!3.710!!

Question'4'!

a) Largest!number!of!delayed!projects:!Transportation,!31'projects!b) Largest!percentage!of!

delayed!projects:!Water/Sewer,!31.52%'c) Diane!Weaver!completed!projects!in!3'categories!

where!at!least!75%!were!on!time.!!

Question'5'!

a)!weekly!instalments!of!$38.73!b)!Loan!amount!is!$12,257.15!!

Question'6'!

Quantity!need!to!Sale!!

!

Total!Profit:!$20700!!

1  
15s2!

!
PartA!! 150!!
PartB!! 100!!
PartC!! 50!!
PartD!! 200!!
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Question 7 

Note that the first answer requires 5 significant digits, not 5 decimal places. -0.00027 has only 2 

siginficant digits

To find the x intercept, undo  the X axis scale maximum and set to beyond the expected value. Doesn't 

have to be particularly accurate.

Slope of trend line (co-efficient of x) -0.00026967 5 digits

Intercept on the Y axis (trend line constant) 0.32455 5 digits

0.994 3 digits

Intercept on the X axis (approximate) 1200 2 digits

R2 value
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f(x) = -0.000269670x + 0.324549451

R² = 0.993999147



Question 8 

Conditional formatting in C2:N24 is

Conditional formatting in A2:B24 has only one condition, note the addressing mode $O24, 

relative to the last row but absolute column so that col A and B are highlighted correctly:

Sheet looks like this:


